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QUESTION 1

Refer to the exhibit.

Calendar Reglon

“Date e : ..REQIGF‘IE‘ >
Revenue
Year Region
Cluartar SRate.# | Manager
Manth BINERIGNSEL Country
Revenue
- ProductID -
'Forecast
'Region Jan-18 Feb-18 Mar-18 Apr-18 May-18
'EMEA 32 40 25
APAC 16 12 14
;LATAM 12 14 16
NA 20 22 22
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A business department is forecasting revenue within an Excel spreadsheet. A data architect needs to

include this forecast into the existing data model, and without losing any data.
Which two sets of steps will meet these requirements? (Select two.)

A. 1. Load the Excel spreadsheet using the data load editor

2.

Use the Unpivot function

3.

Use the Sum function to group the forecast by date

4,

Connect to the existing data model

B. 1. Load the Excel spreadsheet using the data load editor

2. Use the Crosstable function to unpivot the table
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3 Create a composite key out of the date and region

4 Connect the new table to the data model

C. 1. Load the Excel spreadsheet using the data load editor
2.

Change the sort order by date

3.

Create a composite key out of the forecast and region
4,

Connect to the existing data model

D. 1. Load the Excel spreadsheet into the data manager
2.

Use the Unpivot function

3.

Create a composite key from the date and region

4,

Connect the new table to the data model

E. 1. Load the Excel spreadsheet using the data manager
2.

Rename the ForecastDate field to Date

3.

Disable the Region

4,

Connect to the existing data model

Correct Answer: D

QUESTION 2
A data architect plans to build an app that contains geographically diverse data that must be specific to
user run-time selections. The source contains transactional data. The app must have minimal impact on

already limited server resources.
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Which approach should the data architect use?
A. Loop and Reduce

B. QVDs

C. In-memory

D. ODAG

Correct Answer: A

QUESTION 3

Refer to the exhibit.

Customer SalesTransaction
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CustomerID & p—o CustomerlD » Employee
CustomerName EmployeelD # p—~—a EmployecID #
Date Name
Amount

CustomeriD CustomerName

A1537438 Durgan Ltd

A3055345 Kertzmann and Sons

11803273 Weissnat, Morar and Mills
Z5373110 Towne, Von and Gulgowski
KK720402 Shanahan

AAB2402 Globex

BB29729 Grant

B11764 Bernhard, Hettinger and Kautzer

EmployeelD Name
AMEROO1 Alice
AMERS9837 Bob
EMEA1207 Carlos

APAC3322 Grace
APAC92611 John

EMEA1304 Heidi

Country

United Kingdom

United States of America
USA

UK

U.S.A

Japan

France

New Zealand
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A global sales organization operates in three regions: AMERICAS, EMEA: and APAC. Each region stores its sales
transactions in a separate database in which the employees update customer data through a third-party app. The data
is extracted into three QVDs.

A data architect sets up a two-tier architecture for the data load. The data architect needs to add the region to the data
model.

Which technique should the data architect use to create the Region field?

A. Create a Region field in the SalesTransaction table and populate using fixed region values while loading from each
source

B. Create a Region field in the Employee table and populate using the LTrim function on the EmployeelD
C. Create a Region field in the Employee table and populate using the SubField function on the EmployeelD

D. Create a Region field in the SalesTransaction table and create a mapping table based on the Country field in the
Customer table

Correct Answer: D

QUESTION 4

Refer to the exhibit.

Date PatientChange
2019-01-01 100
2019-01-02 25
2019-01-02 -30
2019-01-03 10
2019-01-03 -15
2019-01-04 20
2019-01-04 -10

This table contains information about the number of admissions and discharges of patients in a hospital.
The values can be positive or negative. The data architect needs to create an extra column that contains
the number of patients that are currently in the hospital.

Which script should the data architect use?
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Dats, PacisncChangs,

EztientThange + Fiz=ldVslu=s (PatientChang=s) AS 4$Patisnts
[lik://Data/PatientData.xlsx]

(poxml, smbodded Jdgbale, Tahla ig Bhoatl);

FatienctData:
LCAD
Date, PatientChange,
Bbowve (PatientChanga) AS fPatisnts

FROM [lik://Dats/PatiantData.sxlsx]

[ooxml, embedded lsbels, takle is Shoeitl):
C)
PatiantData:
LOAD
TDate, PatienitChance.,
RangeSum(PatisntChange, Desk({#fatientcs)) A5 $Patisntc
FEOM [libh://Data/PatientData.xl=x]
[ooumi; ocmbeddad labsls, Table is Shastl):
D)
Eatientlsta:
LOAD
Data, Facientiih :I.I:'lﬂﬁ-
PatisntThange + Peek{PatisntChanage] AS #Patients
FROM [1ib:/fDara/Pacienthats.xlcK]
{coxml; embmdded fabelz;, tabls 13 Sheetl)i

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 5

Refer to the exhibit.
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EmployeelD Department

1 Executive
2 1T
3 Sales
4 Sales
5 Sales
6IT
7 Human Resources
8 Human Resources
9 R&D

10 R&D

11 Logistics

A company has different departments Executive and Sales should always be the first values in a
Department filter pane.
Which script must the data architect use to meet this requirement?

A)

Employesscenp

LORD
EmployesID,
Department
FROM [lib://Data/Departments.xlsx]
(ooxml, embeddsed lab=lg, tabla 15 ZShestl):

Employess:

LoaAn
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LOAD = INT.

Emplovess:
LoAD
Employeall;
Department
FRcM [lik://Lata/Departmente.xlsx]
(ooxml, embedded labels, tabls 1s Sheetl);
Drop Tabls CustcomScort:

C)

Fmployeaes:
LD
EmployasIl,
Department
FRoM [lik://Data/Depactmentes.xlsn]
(co¥ml, ambadded labels, tabls i= Sheatl)
Order by Department (Executivs, Sales) Zsc;

D)
Employess:
LOERD
EmplovesIh,
IF ({Department='Executiva', Dual (Deparctment, 1),
IF(Department="5Sales", Dusl{Department, Z£))} AS Despartment

FROM [1ib://Data/Departments.ilsx]
(ooxml, enbedded labesls, takle 1= Sheetl):

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C
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